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FEB FE BERXS WMERLE EIRWIERB EIR#E 2RAZIRERE
BEELHER (A) 8.5 4.0 0.0 12.5
HBRA FIEHELHER (B) 2.5 2.0 0.0 45
BHRLEE %
(A~ (A+8B) *100) Vb 55 0 0 X
" SEELHER (A) 10.0 21.0 6.3 37.3
= EMEA FIEHLHER (B) 0.0 8.0 7.7 15.7
=1
ERLEE %
(A 00 100.0 72.4 45.0 70. 4
BEELHER (A) 2.3 5.6 54.6 83.1
— RS ERE FIEELHER (B) 5.7 22.4 30. 4 61.9
BHRLEE %
(A~ (A+8B) %100 A0 ALY Ens e
SEELHER (A) 4.0 1.0 0.0 5.0
HBRA FIEHELHER (B) 0.0 10.0 0.0 10.0
ERLEE %
(A 00 100.0 9.1 0.0 33.3
" BEELHEN (A) 3.4 15.0 32.7 51.1
= HPIRE FIEELHEN (B) 0.6 0.0 13.3 13.9
& HHERLE %
(A a0 85.0 100.0 71.1 78.6
SEELHER (A) 2.3 0.0 60. 2 83.3
— SRR E FIEELHER (B) 5.7 0.0 52.8 61.7
ERLEE %
(A 00 28.8 0.0 53.3 57.4
BEELHEN (A) 11.4 5.3 0.0 16.7
HBRA FIEHELHER (B) 2.6 4.7 0.0 7.3
BHRLEE %
- (A~ (A+8B) *100) . . 0 9%
o " SEELHER (A) 13.0 2.4 27.1 42.5
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:%r_s % EMEE FIEELHER (B) 0.0 1.6 18.9 20.5
=1
— ERLEE %
- (A 00 100.0 60.0 58.9 67.5
BEELHEN (A) 2.3 0.0 60. 2 81.3
—RHERE FIEELHER (B) 5.7 0.0 52.8 61.7
BHRLEE %
(A~ (A+8B) %100 A0 U 0 930
SEELHER (A) 12.0 4.0 0.0 16.0
HERA FIEELHER (B) 0.0 2.0 0.0 2.0
ERLEE %
(A 00 100.0 66. 7 0.0 88.9
g BEELHEN (A) 6.0 25.0 8.8 39.8
% EMEE FIEHELHER (B) 0.0 1.0 8.2 19.2
£
! BHRLEE %
B (A a0 100. 0 69. 4 51.8 67.5
SEELHER (A) 2.3 5.6 54.6 82.1
—BHERE FIEHLHER (B) 5.7 22.4 30. 4 61.9
ERLEE %
(A e 00 28.8 20.0 64.2 57.0
BEELHEN (A) 11.0 2.0 0.0 13.0
HBRA FIEHELHER (B) 2.0 0.0 0.0 2.0
HRLEE %
~ (A~ (A+8) *100) o) ey 0 65 0
& FEELHEY (A) 13.2 0.0 33.0 46.2
g EMEE FIEHLHER (B) 1.8 0.0 7.0 8.8
£ BREE %
£ (A e 00 88.0 0.0 82.5 84.0
BEELHEN (A) 2.3 0.0 60. 2 62.5
—RHERE FIEELHER (B) 5.7 0.0 52.8 58.5
HRLEE %
(A~ (A+8B) %100 A0 U 0 il




FEB FE BERXSH WMERLE EIRWIERB EiIRE B 2HEEEXRE
BEELHEH (A) 13.0 4.3 0.0 17.3
HHERE FEBLHEHK (B) 6.0 3.7 0.0 9.7
HRLEE %
= (A~ (A+8) *100) S0 . 0 G
o g SEELHEH (A) 15.0 2.4 19.4 36.8
Erd
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8
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@ # (A (AaB) #100) 88.2 60.0 42.2 54.9
BEELHEH (A) 2.3 0.0 60. 2 81.3
— R ERE FEBLHEHK (B) 5.7 0.0 52.8 61.7
HRLEE %
(A~ (A+8B) %100 A0 U 0 930
HEELHES (A) 8.1 0.0 0.0 8.1
HEERE FEELHEH (B) 2.9 0.0 0.0 2.9
BERLEE %
(A (AaB) #100) 73.6 0.0 0.0 73.6
- BEELHEH (A) 2.5 0.0 37.0 39.5
Z HM&E FEBLHEHK (B) 1.5 0.0 45.0 46.5
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— BB ERE FEELHEH (B) 5.4 15.9 38.8 77.1
ERLEE %
(A (AaB) #100) 10.0 16.3 40.3 51.8
BEELHEH (A) 8.9 0.0 0.0 8.9
HHERE FEBLHEHK (B) 4.1 0.0 0.0 4.1
BHRLEE %
= (A~ (A+8B) *100) 259 U 0 959
= - HEELHES (A) 10.6 0.0 20.5 31.1
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;‘%[.‘ g HMHE FEELHEH (B) 1.4 0.0 23.5 24.9
= & HREE %
= (A (AaB) #100) 88.3 0.0 46. 6 55.5
BEELHEH (A) 0.6 3.1 26. 2 82.9
— R ERE FEBLHEHK (B) 5.4 15.9 38.8 77.1
BHRLEE %
(A~ (A+8B) %100 o0 e ol il
HEELHES (A) 3.0 0.0 0.0 3.0
HEERE FEELHEH (B) 10.0 0.0 0.0 10.0
ERLEE %
(A (AaB) #100) 23.1 0.0 0.0 23.1
® BEELHEH (A) 15.8 3.0 17.0 35.8
Z HFMRE FEBLHEHK (B) 2.2 0.0 15.0 17.2
&
BHRLEE %
(A (AtE) #100) 87.8 100. 0 53.1 67.5
HEELHES (A) 0.6 3.1 26. 2 82.9
— R ERE FEELHEH (B) 5.4 15.9 38.8 77.1
ERLEE %
(A (AaB) #100) 10.0 16.3 40.3 51.8
BEELHEH (A) 15.5 5.8 0.0 23.3
HEERE FEBLHEHK (B) 0.5 0.2 0.0 0.7
HRLEE %
(A~ (A+8) *100) %Y ey 0 s
HEELHES (A) 67.5 0.0 29.0 96.5
£ 3 £
$ 1 HMHE FEELHEH (B) 1.5 0.0 1.0 2.5
B &
ERLEE %
(A (AaB) #100) 97.8 0.0 96. 7 97.5
BEELHEH (A) 1.8 2.8 48.7 53.3
— R ERE FEBLHEHK (B) 2.2 7.2 30.3 39.7
BRILE % 45.0 28.0 61.6 57.3

(A (A+B) *100)




FE | FH FEES WEFB ERVER B HiRH B LREEENE
BEALHAR (A) 5.0 0.0 0.0 22.8

£HHE REELHER (B) 0.0 0.0 0.0 1.2

® (A/ﬁﬁtﬁs)oﬁmo) U0 % 0 S

< | 2 FERLHAR (A) 16.0 3.0 45.0 64.0
2 | % IR A RERBHAR (B) 0.0 0.0 1.0 1.0
* ;:4 (A L % ) 100.0 100.0 97.8 98.5
" BEALHAR (A) 1.8 2.8 48.7 53.3
—MEENE | MTEIHER (B) 2.2 7.2 30.3 39.7
(A/ﬁﬁtﬁs)oﬁmo) 5 A L0 e

5 BEEAHER (A) 12.3 1.0 0.0 13.3

= £RHE RERBHAR (B) 12.7 3.0 0.0 15.7

= (A L % ) 49.2 25.0 0.0 45.9

m BEALHAR (A) 25.4 16.5 21.9 69.8

i HPIHE REELHER (B) 10.6 2.5 26.1 39.2

X (A LR %) 70.6 86.8 51.7 64.0

T FERLHAR (A) 2.8 9.6 55.8 68.2

2 | —msmme | xessmam e 6.2 19.4 40.2 65.8

e (A L % ) 311 33.1 58.1 50.9
BEALHAR (A) 13.8 0.0 0.0 13.8

£HHE REELHER (B) 2.2 0.0 0.0 2.2
(A/ﬁﬁtﬁs)oﬁmo) S50 U 0 038

i FEELHAR (A) 19.6 17.0 8.0 44.6

i il RERBHAR (B) 0.4 5.0 6.0 1.4

# (A L % ) 98.0 77.3 57.1 79.6
BEALHAR (A) 4.8 10.8 55.8 71.4

—MEENE | MTELHER (B) 4.2 18.2 40.2 62.6

é (A/ﬁﬁtﬁs)oﬁmo) 0 2 331 e
# FERLHAR (A) 12.1 0.0 0.0 12.1
ERHE RERLHAR (B) 2.9 0.0 0.0 2.9

(A L % ) 80.7 0.0 0.0 80.7

z BEALHAR (A) 5.1 15.0 16.0 46.1

%: IR B REELHER (B) 0.9 7.0 8.0 15.9

2 (A/ﬁﬁtﬁs)oﬁmo) b 2 3 e
FEELHAR (A) 5.3 10.4 60.0 75.7

—REEHE | REEAHER (B) 3.7 14.6 54.0 72.3

(A L % ) 58.9 41.6 52.6 51.1

BEALHAR (A) 9.5 0.0 0.0 9.5

£HHE REELHER (B) 6.5 0.0 0.0 6.5
(A/ﬁﬁtﬁs)oﬁmo) J U 0 e

1 FEELHAR (A) 17.4 12.5 16.0 45.9

%ﬁ HFIH A RERLHAR (B) 0.6 15 4.0 12.1

# (A L % ) 9.7 62.5 80.0 79.1
BEALHAR (A) 4.8 6.6 60.0 71.4

—BHEHE | RETELHER (B) 1.2 2.4 54.0 57.6

JRILE 0 80.0 73.3 52.6 55.3
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FEB FE BERXSH WMERLE EIRWIERB BIR#E e B ES =]
BEELHER (A) 9.5 0.0 3.0 12.5
EBHE FEELHEY (B) 5.5 0.0 1.0 6.5
HRLEE %
(A~ (A+8) *100) 59 U 0,0 9.0
1 BEELHEY (A) 19.2 10.0 9.0 38.2
I [
g I EMHE FEELHER (B) 0.8 2.0 11.0 13.8
U = BERLEE %
B (A L % ) 96.0 83.3 45.0 73.5
BEELHER (A) 8.0 9.6 55.8 73.4
—BHERE FEELHEY (B) 4.0 19.4 40.2 63.6
(A/ﬁﬁtﬁs)oﬁmo) ey 1 331 L
BEELHEY (A) 6.0 8.0 0.0 14.0
EWHE FEELHER (B) 2.0 0.0 0.0 2.0
BERLEE %
(A L % ) 75.0 100. 0 0.0 87.5
g BEBLHER (A) 8.5 10.0 16.8 40.3
® EMHE FEELHEY (B) 2.5 0.0 13.2 15.7
# =
® (A LR %) 71.3 100.0 56.0 72.0
BEELHEY (A) 0.0 1.1 90.2 104.3
—BHERE FEELHER (B) 0.0 41.3 78.0 119.3
ERLEE %
(A L % ) 0.0 21.2 53.6 46.6
BEBLHER (A) 30.0 0.0 0.0 30.0
EHHE FEELHEY (B) 1.0 0.0 0.0 1.0
BHRLEE %
(A~ (A+8B) *100) s U 0 %0
fﬁ BEELHEY (A) 16. 4 0.0 33.7 56. 1
g EMHE FEELHER (B) 1.8 0.0 17.4 19.2
g BRLE %
E (A L % ) 90. 1 0.0 65.9 74.5
BEBLHER (A) 0.0 7.2 94. 1 11.3
2 —HERE FEELHEY (B) 0.0 19.0 98.3 117.3
B ERLE %
b (A/ (A+B) :100) 0.0 21.5 48.9 48.7
; BEELHER (A) 1.1 5.4 0.0 16.5
B HBRA FIEELHER (B) 0.9 0.6 0.0 1.5
ERLEE %
" (A L % ) 92.5 90.0 0.0 91.7
fﬁ BEBLHER (A) 16.0 0.0 37.7 53.7
g EMEE FEELHEY (B) 0.0 0.0 7.3 7.3
& =
A (A/ﬁﬁtﬁs)oﬁmo) U0 % 0 e
&
BEELHEY (A) 0.0 15.0 86.3 104.3
—BuERE FEBLHER (B) 0.0 61.6 57.7 119.3
ERLEE %
(A L % ) 0.0 19.6 59.9 46.6
BEBLHER (A) 13.9 0.0 0.0 13.9
EWHE FEELHEY (B) 1.1 0.0 0.0 1.1
HRLEE %
® (A~ (A+8) *100) e U 0 s U
z HEALHER (A) 14.0 13.4 16.8 44.2
1 EMHE FEELHER (B) 0.0 1.6 5.2 6.8
& = o
% (A L % ) 100.0 89.3 76.2 9.4
&
BEBLHER (A) 0.0 15.0 86.3 108.3
—BHERE FEELHEY (B) 0.0 61.6 57.7 126.3
BRILE % 0.0 23.1 50.0 44.4

(A (A+B) *100)




FEB FE BERXSH WERE EIRWIERB EiIRE B 2HEEEXRE
HEALHAY (A) 16.7 0.0 0.0 16.7
HRERE FEELMEH (B) 1.4 0.0 0.0 1.4
HRLEE %
(A~ (A+8) *100) O U 0 el
2 EEENHEM (A) 1.7 6.6 21.2 39.5
ﬁ =MHE FEBLHAY (B) 3.4 1.4 15.8 20.6
& HREEE %
(A (ATB) 100 71.5 82.5 57.3 65. 7
HEALHAY (A) 0.0 1.1 90. 2 104.3
—B%ERE FEELMEH (B) 0.0 41.3 78.0 126.3
HRLEE %
(A~ (A+8B) %100 %0 -2 0 o5
EEELHEM (A) 18.0 0.0 0.0 18.0
ERRE FEBLHAH (B) 1.0 0.0 0.0 1.0
BERLEE %
(A (ATB) 100 94.7 0.0 0.0 94.7
;95 HEALHAY (A) 7.0 13.0 31.9 51.9
)
1t =MRE FEELHEM (B) 0.0 0.0 5.4 5.4
=
! HRLEE %
B (AS CArB) +100) 100.0 100.0 85.5 90. 6
EEENHEM (A) 0.0 7.2 93.1 145.3
—R%ERE FEBLHAY (B) 0.0 19.0 97.3 132.3
ERLEE %
(A (ATB) 100 0.0 21.5 48.9 52.3
HEALHAY (A) 26.4 0.0 0.0 26.4
HRERE FEELMEY (B) 1.6 0.0 0.0 1.6
BHRLEE %
2l § (A/ (A+B) :100) 94.3 0.0 0.0 94.3
i f BEELHER (A) 22.6 13.0 42.1 78.3
f 1% HFIRE FEBLHAH (B) 0.5 3.0 23.3 26.8
%
¥ HHREE %
P ; (A (ATB) 100 97.8 81.3 64.7 74.5
£ HEALHAY (A) 0.0 8.2 94. 1 105.3
—BHERE FEEUMEH (B) 0.0 19.0 98.3 124.3
BHRLEE %
(A~ (A+8B) %100 %0 el e 50
EEELHEM (A) 16.0 5.4 0.0 21.4
ERHA FEBLHAY (B) 2.0 0.6 0.0 2.6
A HEEE %
g (AL (AEB) +100) 88.9 90.0 0.0 89.2
% HEALHAY (A) 12.8 19.0 10.4 42.2
A
7 =MHE FEELMEY (B) 0.3 5.0 5.6 10.9
L
BHRLEE %
_}?ﬁ (A~ (A+8B) *100) e 2 25,0 U9
£ EEELHEM (A) 0.0 15.0 86.3 104.3
—R%ERE FEBLHAH (B) 0.0 61.6 57.7 126.3
ERLEE %
(A (ATB) $100) 0.0 19.6 59.9 45.2
HEALHAY (A) 21.5 2.0 0.0 23.5
HRERHE FEEUMEY (B) 0.5 0.0 0.0 0.5
HRLEE %
% (A~ (A+8) *100) e ey 0 0
ﬁ@ HEALHER (A) 39.0 16.0 36.0 91.0
F HFIRE FEBLHAY (B) 3.0 0.0 7.0 10.0
B
ERLEE %
; (A (ATB) $100) 92.9 100.0 83.7 90. 1
£ HEALHAY (A) 0.0 15.0 86.3 104.3
—B%ERE FEELHEM (B) 0.0 61.6 57.7 126.3
BRILE % 0.0 19.6 59.9 45.2

(A (A+B) *100)




FEB FE BERXSH WMERLE EIRWIERB BIR#E 2HEEEXRE
HEALHAY (A) 19.7 8.0 0.0 21.7
HERERHE FEELMEH (B) 0.3 0.0 0.0 0.3
HRLEE %
- # (A~ (A+8) *100) 20 ey 0 20
B
i § SEBLHEM (A) 10.0 0.0 37.0 47.0
f % =MRA FEBLHAY (B) 0.0 0.0 4.0 4.0
T
% HHEREE %
P z (A (ATB) 100 100.0 0.0 90. 2 92.2
HEALHAY (A) 0.0 7.2 94. 1 106.3
—R%ERE FEELMEH (B) 0.0 19.0 98.3 122.3
ERLEE %
(A (ATB) 100 0.0 21.5 48.9 46.5
EEENHEM (A) 14.0 0.0 0.0 14.0
ERHAE FEBLHAY (B) 2.0 0.0 0.0 2.0
=2 BHRLEE %
2 (A (ATB) $100) 87.5 0.0 0.0 87.5
D4 HEALHAY (A) 17.0 16.0 12.0 45.0
S
7 =MRE FEEUMEH (B) 0.0 1.0 2.0 3.0
L
BHRLEE %
é (AS CArE) +100) 100.0 94.1 85.7 93.8
1 EEENHEM (A) 5.0 17.7 52.2 74.9
—R%ERA FEBLHAY (B) 3.4 23.8 30.9 58. 1
BERLEE %
(A (ATB) $100) 59.2 42.7 62.8 56.3
HEALHAYN (A) 12.0 0.0 0.0 12.0
ERERE FEELHEH (B) 4.0 0.0 0.0 4.0
~ BRLE %
T (A/ (A+B) %100 WY Y v LY
1
7} EEELHEM (A) 4.0 10.0 33.0 47.0
;}‘%Iﬁ EMHE FIEELHENR (B) 0.0 3.0 6.0 9.0
B ERLE %
e (A (ATB) $100) 100.0 76.9 84.6 83.9
z HEALHAY (A) 3.6 16.7 52.2 72.5
. —B%ERE FEELHEM (B) 4.6 22.6 30.9 58. 1
¥ BHRLEE %
’% (A~ (A+8B) %100 o5 Fo ) g €
= EEELHEM (A) 12.0 6.0 0.0 18.0
=i
: ERHE FEELHER (B) 0.0 1.0 0.0 1.0
ERLEE %
% (A (ATB) $100) 100.0 85.7 0.0 94.7
% HEALHAY (A) 11.0 34.0 14.0 59.0
A
> =MHE FEELHEM (B) 0.0 0.0 6.0 6.0
L
BHRLEE %
; (AS CArE) +100) 100.0 100.0 70.0 90.8
£ EEELHEM (A) 3.6 18.1 52.2 73.9
—R%ERE FEBLHAH (B) 4.6 21.2 30.9 56. 7
ERLEE %
(A (ATB) $100) 43.9 46. 1 62.8 56. 6
HEALHAY (A) 13.0 2.0 0.0 15.0
HEBERHE FEELHEM (B) 0.0 0.0 0.0 0.0
BHRLEE %
(AS CArE) +100) 100.0 100.0 0.0 100.0
';*g EEALHER (A) 2.0 0.0 6.0 8.0
T =MRE FEBLHAY (B) 2.0 0.0 2.0 4.0
£
J ERLE %
B (A (ATB) $100) 50. 0 0.0 75.0 66. 7
HEALHAY (A) 1.4 10.0 52.2 63.6
—E%ERE FEELMEM (B) 2.6 16.2 30.9 49.7
BRILE % 35.0 38.2 62.8 56. 1
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SERELHER (A) 16.0 0.0 0.0 16.0
HBERE FEMLHER (B) 0.0 0.0 0.0 0.0
HRLEE %
i (A~ (A+8) *100) U0 % 0 Ly

% 7 BEELHEY (A) 0.0 0.0 0.0 0.0

pi3 Vi
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—BERE FEMLHER (B) 3.4 16.2 30.9 50.5
HRLEE %

(A~ (A+8B) %100 s 0 2 g e

BEELHAR (A) 5. 7.7 0.0 12.7

HBERE FEELHER (B) 0.0 8.3 0.0 8.3
HHEEE %

(A R %0 100.0 48.1 0.0 60.5

= SERLHER (A) 3.8 5.5 30.5 39.8

;_ EMEE FIETELHEM (B) 0.2 1.5 6.5 8.2
=) HEHER %

(A~ (A+8) *100) 250 £ ot 0

BEELHAR (A) 3.9 3.8 60. 6 68.3
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HEEE %
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SERLHER (A) 17.2 1.0 0.0 18.2
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Z (A/ (A+B) %100 [ e v R

R

@ Z BEELHAR (A) 4.0 19.0 0.0 23.0

L

; > EPIRE FEELHER (B) 0.0 1.0 0.0 1.0

a0 = ERLEE %
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=
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BHRLEE %
(A~ (A+8B) %100 el G 30 il
BEELHAR (A) 14.9 0.0 0.0 14.9
HBERE FERLHER (B) 2.1 0.0 0.0 2.1

B ERLE %
B (A R %0 87.6 0.0 0.0 87.6
A SERLHER (A) 11.0 8.0 20.0 39.0
Y HPIEE REELHEY (B) 0.0 0.0 8.0 8.0

# EHRLE %
B A %00 100.0 100.0 71.4 83.0
ﬁ BEELHER (A) 3.9 3.8 71.5 79.2
—WBHERE FETERLHER (B) 4.1 2.2 59.5 65.8
BRILE % 48.8 63.3 54.6 54.6

(A (A+B) *100)
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